Multiplicér decimaler med ti

4,831 x 10 =

8,392 x 100000 =

1,625 x 10 =

9,122 x 100 =

4,45 x 100 =

5, 624 x 100000 =

2,601 x 100000 =

2,499 x 100000 =

8,983 x 10000 =

3, 825 x 1000000 =

Dato:

8,396 x 100 =

9,304 x 100 =

9,516 x 10000 =

8,33 x 1000 =

5,144 x 100 =

4, 143 x 1000000 =

9,636 x 10000 =

6, 503 x 1000000 =

6,431 x 1000 =

1,928 x 1000000 =
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Multiplicér decimaler med ti

4,831 x 10 =48.31

8,392 x 100000 = 839200

1,625 x 10 =16.25

9,122 x 100 =912.2

4,45 x 100 = 445

5, 624 x 100000 = 562400

2,601 x 100000 = 260100

2,499 x 100000 = 249900

8,983 x 10000 = 89830

3, 825 x 1000000 = 3825000

Dato: Score:

8,396 x 100 = 839.6

9,304 x 100 = 930.4

9,516 x 10000 = 95160

8,33 x 1000 = 8330

5,144 x 100 = 514.4

4, 143 x 1000000 = 4143000

9,636 x 10000 = 96360

6, 503 x 1000000 = 6503000

6,431 x 1000 = 6431

1,928 x 1000000 = 1928000
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